_ oLtV

5 A, g +a?+t--+at 9 FFe?

-1 ®‘1 ® 0 @
O 2

|

B

_1+\/_l oA 20+ 1 — V3i
Bd% ]—J—OHA-] A5t A o® +a+1=0
)(a +a+1)—0,a’ =1

s = Q’Q,agk =1

. /\

s = a,a
=(@+a®+1)+(a+a®+1)+
cH(@tad®+ 1) +ata®

= a+ a2

=-1

(%‘

\_/

(0 a®+a+1=0)




l+a+a®+---+a

=@P=1(Ca’+a+1=0)

-1- V3i
2

a+3 _  @+3

20+1°°7 2@+1

a@+3a+@)+9 1-3+9

do@+2(a+a)+1

@)

@ = ,at+a=-l,ae=1

=

2 =

=l+e+a?+a®l+a+a?)+---+a®®

4-2+1

2. o=tV o g o5 4o e e R (B
=z 9 Y Eas)
D +a+1=0
© l+a+a?+---+a¥=1
_a/+3 o] —
© z= oyl e aE=g
ONQ) @0 .,0 ® 9,0
@ 0O, ®)o,0,0
-1 |
@:a:+®,2a+1:\/§i
FHS AFohA FestH o’ +a+1=0
©:(a-D(@*+a+1)=0,a>=1

— b

7

3

B

®© °] 4
-1

YFe et 2

+ V3i
2

ol ) AN 5

o= —

5+ V3i
2

=2 +1= V3i,a+3=

54+ V3i

2V3i
51\/§

2V3
XV3+5L_
23

Cat+3
T2 +1

V3 - bi
23

7
—

3

z-

AT




8
. (ZR0) +(FT) e
@ 0 @-1

w =

o

(
( 3

w

-1 3i
_;‘/_l 20+ 1 = V3i

S AFNA FElstH w? +w+1=0

w—l)(w +tw+1)=0=wd=

+(0%)? w? =0+ w?=-1




BAg = T of thote] (322 +2)? + (22 4 32) ©] #t= ot
ofet,

> E

> ®e: 2

Z:1+\/§i: (1+ V3i)?
1-V3i (11— V3i)(1+ V3i)
_ -L+ Vi

2

o —1-— V3i
CT T
(322 +2)% + (22 + 32)?

_ (—3—3\/§i—1+ «/31')2

2

+(—1— «/§i;3+3«/§i>
= (-2 - V3i)2 + (-2 + V3i)?
=44+4V3i-34+4-4V3i-3=2

B

1+ VB
SERY:T
(1+ V3i)?
(1- V3i)(1 + V3i)
14 VB
==

rE
=2
)

it
o
=
[
o
—Ho
rE
|o
fu
£
oo
o
ra

1A %
P AFt
422 +4z+1=-3

— 472 +4z+4=0
—»22+z+1=0

> (z-1)(F@+z+1)=0
—-z22-1=0

—z22=1
<A o) TS L

(2,

~1+ V3i .
= W gz 2o 1m0 9t 1 8 £2T
92 Zolt.

(322 +2)% + (22 + 32)?
=10z* + 12x3 + 1022

= (10z* +102* + 102%) + 22°
=102%(z® +z+ 1) + 22
—0+2

=2

27+1= V3i

2~
e




_ = 1
A P +x+1 =0 Z2wdt W, ————— =aw+b

2w3 + 3w? + 4w
£ WEStE A4 g+ b 9 #2512

=

Wl =

PHx+1=09%FSwGlE)S L w+w+1=0
ANAM FHflw-1 = &3H,
wi—1=0 Lwi=1

1 1

ow3 + 3w2 + 4w 3w2—|—4w—}iQ

- 3({v2+w+1)+w—1

=c——
_W w+2

w-D+)

w2 +w—2
w2

—va2
- 37 3

1 2
- —EW— g =aw-+b Oﬂ]\i
a,b 7t A%, w e Sgolnz
1 2

=—-,b=-- L a+b=-1
a 3, 3 a—+




1—|—\/_l

72005 | 52005 _

(23)668 Sz (23)668

—

=1

°Z

— t5hod ;2005 4 52005 o] ZkS T151T9

-1+ \/gi —1—\/§i
o= @- —
@ 1 ® Vi

-1+ VB -1- VB

= 5 7= .
27+ 1 = V3i oA FHLE A FJoiA AestH
2Z2+z+1=0,z-1)(2+z+1)=0

3:1’ 23:1




